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HENR:

HEIRIT (BB) BRA A —AANE+B+RA EBERGO 100.00%  $R1T%
REE 43,042,840,85878 7T

EERH :

FFBXERTERAR —hWENF=RA=H EERM 100.00%  $R1T#¥
REB 600,000,00078 JT

ERBITERAF —AMtFMA=+mA ERRM 70.49%  $RITE
REE 300,000,0007 7T

HERE AR (BB R —ANZEFAANA EERGO 100.00%  fEAFREE
REE 100,000,000 7T

ZHEZSHERATF —AENFENB=+=H EERD 100.00%  ¥IEFHEHE
REB 500,0007%& 7T

FEELEBRA A —AN=F=B=+H EERGO 100.00%  YEFHE
RER 10,0007 7T

HEIRIT(BBIREABRLA —"AWN\EF+HA—H EERD 100.00% LB ARG
REB 28T

HERIT (BB ETEERAAE —ANEF+—HRH EERGO 100.00%  f=FERRFEZE
RER 3,000,0005% 7T

R B B CRYIN B BR b —ANZEFEWA+RAE &R 100.00%  BA{FBREEE
HRHE 70,000,00078 7T

HIEEEETEABTRAF —ANhtF+=H—H Rl 64.20%  fSREMRIEHE
REB 200,000,0007 7T

IR R RO A —ANZ=ZFNB=1+mWA EBERGO 100.00%  HE#FERRFE
REE 2,000,0007& 7T

Fh 8 B MR 2R B AR S S RE R PR A A —AANFE+A+—H EZERG 41.10%  fERERIBEHE
REB 300,000,0007& 7T

BYERERAR —ANNE—-B+NIAE EBERGO 100.00%  EFIEEE
REE 2B T
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HE(REAN)ERAE —hAWN\EFEW™B=+=H 38 IR 10 100.00%  REARKEE
NEE 10,0007 JT

ERBTHREANERAT —hN\—%+—HF=H ZiER D 70.49%  REZEIRE
NEE 100,00078 J©

FEBRAF —ANEFEWARHE 3R 1D 100.00%  YIEFEE
NEE 20078 7T

Dwell Bay Limited —hANEF+ZA+NHE 3 IR 1D 100.00%  YIEFHEE
NEE 100,00078 JT

EBABRERRAT —hWh=FhB+HH @R D 99.00%  YIEFEE
NEE 1,000,000 7T

BEREXEERRAT —hWh=F+=BA++tH 3R 1D 100.00%  YEFEZE
NEE 10,0007 JT

HERRERQT —hAnAt&E—-—B=+=H @R D 100.00%  YIEFEZE
NEE 10,0007 J©

SERRAT —EE-HF=A=1+5<H 3R 1D 70.49%  REBTMRE
REB 28T

HEERAA —ZEZE-FHAMA T3 IR 1D 70.49%  REZMRE
REB 28T

EBRA —EZE-FHAMA TR D 70.49%  REERE
NEE 28T

BRI M ORYN)ER A A —hWh=FhB=+WAH ERE=IN 100.00%  BHBS
A 40,000,00078 T PR 7% 2

BRREAN)BRA T —hN\ARE+A=+NH @R 100.00% R APRKEZE
NEE 10,0005 JT

R IIE(EB)ERDQ A —hth&E=B=+H 3 IR 1D 100.00% fEEREXE
NEE 225,000,00078 JT

SWBERR(EB)ERLT —hWN\—FHA+EHH @R D 100.00% HERIKRE
REB 6,00058 7T ERE

SWAREA)VER QT —hN\EFE+=A+=H ZiER D 100.00%  RIEARKEE
REB 100,00078 J©
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BREXFRRAT —AA=F+—BhB Z AR 1D 100.00%  YIEREXE
REE 2,000,00038 7T

EAEREEEFRAT —hAN\MERB=1+HAB @R 100.00%  RERIEZE
NEE 3,050,00078 7T

BEREERAE —AARENA+=H =gl 100.00% YIERER
NEE 1,000,0003% 7T REERE

EFEERTREANEBRAT —ANEENB=Z+Z=H =gl 100.00%  REARKEE
NEE 50,0007 JT

EFEERTETERLAT —htAR<E+A=Z+=H @R 100.00%  {SFEERISZE
NEE 3,000,0007& JT

IS ERAL T —hthAE=R+~EB BB 100.00%  BIIEPRAS %
NEE 50,000,0007& JT

ZERREBERLT —ANtEARB=AH TR 100.00%  1ERIEE
NEB 28T

Pacific Trend Profits Corporation —EE-FPWA=+H AR €2 70.49%  REERHE
REBEZEE 17T

BiEERLF —htZEFENAB+NE BB 100.00%  YIERE%
NEE 1,000,0003% 7T

HREBRAT —AN=FEhB=++tH @R 100.00%  YEREE
NEE 10,0005 7T

BECEFRLA —hth&E+HAZ=H 38 R 10 100.00%  YEFEZE
NEE 100,00078 JT

BLESRBRERBEERLT —ANEEARA=+=H @R 100.00% =L BHEE
NEE 25,000,00058 JT

BLEHERRALT —Ah=F+A+hE gl 100.00% TEREEX
NEE 25,000,00078 J©

BEREBEABRLT —AA=FEWA=+hAH ZER A 100.00%  REARB#
NEE 10,0003% 7T TEEE AR A 2

BEAERA A —EE-FHA+MAE @R 100.00%  EBEiFEFEE
REB 2,00078 7t
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AT &TE ER 2R EH BE ZEREX B5EE EEER

FHRENBRLAE —AN\AREFEEAZH EERGO 100.00%  fREABRFEE
REE 2,000,0005% 7T

FHRETERAT —AN—FWmA+<A ZER 100.00%  fSFEMRIEHE
REE 14,300,00078 7T

BEHRREFRAF —EETF-HF=+MA Eralhan) 100.00%  REZRHE
REE 28T

BEEXERAF —AAR—F+=A+—8H Eralban) 70.49%  BEERRE
REE 2,800,0005& T

AEEX(EM)ERLA —AN=FMA++LH &R 70.49%  MEBRK
RHE 5,000,0003% 7T REX

BB R A —AthEAANA Rl 100.00%  YIEFHEHE
REB 28T

FRAEFORINERD A —AR=FFEA=1+H &R 100.00%  BERBEHE
i 40,000,0007%& JT

HEEEBRAF —AAR—FARA+=H Epalian) 100.00%  MHERER
REE 3,000,000 JT HEZE

HESTERAA —RENF+A=+tH EERGO 100.00%  fSFERRFEZ
REE 3,000,0005% 7T

FERENERLT —ANZFHEA=++tH Epalian) 100.00% LB AR
REE 100,00078 7T

FAEBRA A —AWN\EFE+—-B=+/\H ZERG5 100.00% WEFEK
REE 100,0005& 7T HEZ

P ERREERA A —Ah=F=A+—H Eralian) 100.00% BRI
REB 7,000,0007% 7T

FRE(REANREERA A —hWN\—F=B+=H ZERMD 100.00% I AR
REB 100,00078 7T

FEEEERLAE —hthEEA+HHA ZERG 100.00%  f=FERR#EZE
REB 3,000,0005% 7T
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BlZER = (REA)ERAF —AWNZ=FHA+MH EERM 100.00% LB ARG
NEE 100,0007%& 7T

BZEETERAA —AN—F+tA++tA EERM 100.00%  fE=FERRIE#E
REE 3,000,0005% 7T

ERREBRA R —AWAEFE=ANH EERM 100.00%  ¥IEFHEH
REB 2B

HEEGBEERAR —AthE=B=++tH ZBER G 100.00%  fEEREH
NEE 25,000,0007 7T

HE(REANERAR —EE-FXA=TRA EERGO 100.00%  fREAREE
REE 2,000 7T
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